F15HA

T 6 FE 20234F &) LigEREFETE

e, o, RERE g RiE RRED | BB)—R&E
Eifa) (AEEke | BH() (4EBGe) | HlG) | AEE (k)| BBk | FHATEREER )
KR
£55397 - - 60 2,040 4430 194,920 200 6,497
ELOWH - - - - - - 80 -
HAEDIEL 10 100 330 11,220 34,000 | 1,496,000 800 49,867
A3oKYAT - - 60 2,040 4950 217,800 240 7,260
BIELDE - - 40 1,360 2910 | 128,040 200 4,268
B HUYH 10 100 130 4,420 15,740 | 692,560 310 23,085
KD E - - - - - - 200 -
BEVAY - - - - 170 7,480 150 249
HOVH - - - - - - 180 -
E1-(YA 10 100 - - - - 240 -
ZopE - - - - 1,090 47,960 200 1,599
R - - 20 680 650 28,600 180 953
=34 - - - - 310 13,640 470 455
E-LFY 10 100 - - - - 200 -
Zo1=h 10 100 60 2,040 5570 | 322,403 200 10,747
AHED - - 30 1,020 6.670 | 293,480 120 9,783
TE 1958 10 100 - - 2,080 91,520 - 3,051
[F<BESBE - - 30 1,020 1,720 75,680 107 2,523
ADFtH 10 100 30 1,020 2440 | 107,360 56 3,579
EpELL - - - - 1,140 50,160 172 1,672
Er-5<bb - - 20 680 450 19,800 176 660
5t 70 700 810 27,540 84,320 | 3,787,403 4,481 126,248
F RREDOREEIL. PHbFERREERVREE~NCTEDRE BETT -




T 6 FE 20234F &) LigEREFEE

%, R84, [RIRTE [F3E R [RIRFED BE)—hF
Eifi(a) (4EEGe)| Ef)  4AEEGke)| () | EEE (e | BERK | FHAAEER(ha)
MEENE | X2/ DAY - - 50 1,950 2,762 107,718 195 1,197
T FHH 300 6,300 4,320 168,480 160,948 | 6,759,816 6,452 84,498
BHEMD - - 990 38,610 38810 i 1,513,590 2,739 16,818
L R95E 20 420 30 1,170 200 7,800 543 87
255 - - - - - - 300 0
&t 320 6,720 5,390 210,210 202,720 | 8,388,924 10,229 102,599
HExhE|/NLIEZH 20 240 150 3,600 4,000 108,000 460 900
BLE 185 2,220 2,220 53,280 51,351 { 1,386,477 6,411 11,554
F5E5Y - - 380 9,120 8,400 226,800 1,969 1,890
&t 205 2,460 2,750 66,000 63,751 i 1721277 8,840 14,344
BFEAE|YESISD - - 30 750 290 7,975 240 53
LE2%5 - - 340 8,500 5,720 157,300 1,572 1,049
&t - - 370 9,250 6,010 165,275 1,812 1,102
= BHDDB - - 20 300 330 5,940 90 74
YL LR A - - 10 150 120 2,160 32 27
22792 - - 5 90 10 180 24 2
NYeEHY 5 60 30 450 730 13,140 36 219
BPELYH - - 20 300 120 2,160 30 36
FLAA 15 180 140 2,100 3,480 62,640 107 1,044
a%kwL 45 540 1,190 17,850 34,090 613,620 680 6,818
aFKRILR - - 1,160 17,400 33,319 599,742 310 6,664
LEHIE - - 280 4,200 13,689 246,402 411 4,107
BEXHM - - 20 300 690 12,420 48 207
ADE 10 120 70 1,050 2,780 50,040 25 834
LbhLKs - - 150 2,250 4,170 75,060 382 938
ZXTJLR - - 80 1,200 3,183 57,294 144 1,432
axTXHh - - 250 3,750 10,580 190,440 300 4,761
LEFEED 20 240 220 3,300 8,676 156,168 144 1,735
&t 95 1,140 3,645 54,690 115,967 i 2,087,406 2,763 28,898
F T RRBOREE%. SHSEERREERVREE~NGN RO REEERT -




T 6 FE 20234F &) LigEREFEE

L BE% FRE RiE #iE REED | (BH)—KE
Ei) ( AEEke | Eifa) (4EE(e) | B | 4HEE (k)| BEE ke | FATATAEEE(h)
Mg |ZYELAYX - - 300 4,500 6,510 97,650 647 2,441
IE167 10 120 390 5,850 6,060 90,900 559 2,273
EDELD - - 70 1,050 1,130 16,950 98 424
LpZxEY - - 80 1,200 380 5,700 267 143
E-2FA 40 480 750 11,250 14,390 215,850 637 5,396
+&E1805 - - - - - - - -
HEOVH - - 20 300 - - 68 -
EVFY - - 20 300 50 750 82 19
Er1F3 - - 20 300 140 2,100 110 42
FhrEAFT - - - - - - 235 -
EEHAME 10 120 200 3,000 1,925 28,875 350 578
FENAME - - 10 150 180 2,700 18 54
&t 60 720 1,860 27,900 30,765 461,475 3,071 11,369
AAES |dEHRTE - - 30 360 450 6,750 54 113
Kk - - 10 120 100 1,500 95 25
&t - - 40 480 550 8,250 149 138
X RRBOREE%. SHSEERRREERVREE~GNEDREEERT -




T 6 FE 20234F &) LigEREFEE

% R84, RRE RiE TiE RRED BE)—hF
Hifie) (4ESke)| Hii(a)  4EEke)| EHi() | 4EES e | BESke | fFHATREERK ()
WAITA | KIESE 320 3,200 1,550 18,600 12,539 188,085 2,428 2,090
tiESE 50 500 120 1,440 660 9,900 184 90
izt 240 2,400 1,300 15,600 5487 82,305 2,361 686
EOSH - - 150 1,800 699 10,485 660 105
EREH - - 210 2,520 2,320 34,800 2,501 290
MEESE - - - - - - 159 -
EFT - - 250 3,000 2,180 32,700 145 654
+EHAE - - - - - - - -
BWTIFES 20 200 50 600 780 11,700 6 195
&'5395 - - 80 960 200 3,000 411 27
Ef-0vY - - - - - - 317 -
N 80 800 360 4,320 1,520 22,800 12 253
RERALE - - 20 360 160 3,360 80 67
BEE - - 30 540 232 4,872 97 81
AB7E - - 20 360 150 3,150 118 29
&t 710 7,100 4,140 50,100 26,927 407,157 9,479 4,567
zIE RV 100 900 1,013 9,117 4,174 37,566 2,173 626
X2/3a - - 20 180 92 828 - 14
L3 /h#l) - - 232 2,088 264 2,376 - 40
FEIVE - - 543 4,887 2,392 21,528 - 359
&t 100;  900]| 1808 16,272 | 6,922 62,298 2,173 1,038
I TRIREOHFEEZEEL, FHNSFERREFRVREEARTROBEEEZTRT .




2 REBR
(fema KD

55397 IFLOH
R R 2(100kg/10a) R #2(340kg/10a) $R#2(440kg/10a) R R FE(100kg/10a) R #2(340kg/10a) $£12(440kg/10a)
REF Eike) |EEEke)| Wi |EESke)| @) | EE=E(e) REH Hife) |EEEke)| EiEG) |EE=2ke)| wHa) |EES(e)
2250 60 2,040 4430 194,920 2250
B B
ES ES
LI LI
E 60 2,040 4430 194,920 i
LADIEL SoKYAT
[R5 #2(100kg/10a) R #8(340kg/10a) $£78(440kg/10a) R R #2(100kg/10a) [R#8(340kg/10a) $£48(440kg/10a)
RES Hife) [£EEke)| HiE@) |EESke)| @EiG) | £EE (ke RES Hife) [fEEEke)| FiEG) [EESke)| @) |[£EEke)
2240 10 100 260 8,840 24,310 | 1,069,640 Ze40
B 1,010 44,440 BN
EE 2,380 | 104,720 EE 60 2,040 4,950 | 217,800
LI 70 2,380 6,300 | 277,200 Il
b 10 100 330 11,220 34,000 | 1,496,000 i 60 2,040 4,950 | 217,800
BIEFHDE BpHUY H
JR /5 #2(100kg/10a) R #E(340kg/10a) #3248 (440kg/10a) [5 JF #E(100kg/10a) R #E(340kg/10a) $£4E(440kg/10a)
REF mite) | EEEke)| W@ |[EESke)| ®Ei@) | EES (e RED mii@) |[EEEke| @G |[EESke)| @EiG) | £ESke
2250 40 1,360 1,760 77,440 50 10 100 100 3,400 11,410 | 502,040
ar |
ES ES
]| 1,150 50,600 LIl 30 1,020 4330 | 190,520
it 40 1,360 2,910 | 128,040 5 10 100 130 4,420 15740 | 692,560
Kt 2 wEULMY
R RF&(100kg/10a) R #E(340kg/10a) $£78(440kg/10a) R [EFE(100kg/10a) R #E(340kg/10a) $£48(440kg/10a)
RER miiGe) [ HE=ke)| mEiEQ) | fAE=Eke)| @miEe | EEske RER mif) [£Eske)| @G [ FE=ke)| mEiEQ) | EE=ke)
250 2240 170 7,480
A% a5
ES ES
]l N
i F 170 7,480
HPUVH YA
JRJE#2(100kg/10a) R #E(340kg/10a) $£18(440kg/10a) [& JE#E(100kg/10a) JR#E(340kg/10a) $%18(440kg/10a)
RES Effe) |EEEke)| i) |EESke)| @) | EEE(ke) RER Hifa) |EEEke)| FiEG) |EESke)| @) | EEE ke
2250 2250 10 100
arx |
ES ES
LI LI
i i 10 100
ZopE SR
R [EFE(100kg/10a) [R#E(340kg/10a) $£48(440kg/10a) R [EFE(100kg/10a) R #E(340kg/10a) $£48(440kg/10a)
REF Eihe) |EEEke)| T |EESke)| @G | £EE=(e) RES Hif) |EEEke)| FHGE) |[EE=ke)| @@ |EES(e)
ZE50 1,090 47,960 5
L a5
ES ES
]| LI 20 680 650 28,600
i 1,090 47,960 i 20 680 650 28,600




& [R#8(100kg/10a) Lﬁ*;arf()kgﬂ 0a) $%78(440kg/ 10a) [5 72 (100ke/10a) J%g(lnggm 0a) $%7%(440kg/ 10a)
o) HEife) [AEEke)| EiEe@ |*ESke| @EHGE) |EE=(e) RER i) |[FESke)| HEHG) |EE=ke)| mH@ |FES(ke
250 5 10 100
=Y A%
B 310 13,640 ES
il B3l
B 310 13,640 g 10 100
Zoi-h AHED
[R5 #2(100kg/10a) [ 18(340ke/10a) $%18(440ke/10a) [ JE#2(100kg/10a) [ 78(340ke/10a) $%18(440ke/10a)
RES Eifa) [HAESEke)| i@ |FESke)| @i |£EES(ke) RER i) |4EEke)| HEifG) |H£ESke)| W@ |FESke
ZEH 10 100 5 30 1,020 6,670 | 293,480
a5 60 2,040 5570 | 297,437 a%F
hid=] ES
il il
&t 10 100 60 2,040 5570 | 297,437 B 30 1,020 6,670 | 293480
EH1955
[5 [ 78(100ke/ 10a) [5#8(340ke/10a) $%78(440kg/ 10a)
RES EiEGe) HESEke)| EiEG |£ESke)| HEiE@ |FESEke
250 10 100 2,080 91,520
B
ES
LI
B 10 100 2,080 91,520
F<B LS54 RADFiH
[5 78 (100kg/10a) [ #%(340kg/10a) %78 (440kg/ 10a) IR #2(100kg/10a) J5#%(340kg/10a) $27%(440kg/10a)
RES Eifie) [AESEke)| EiE@ |4ESke)| @EiHG@) | EEE(e) RER Eif@) |4ESke)| HEiHG) |EESke)| #EH@) |FES(e)
2250 170 7.480 Z=5 10 100 980 43,120
a% a%
ES ES
il 30 1,020 1,550 68,200 i3l 30 1,020 1,460 64,240
&t 30 1,020 1,720 75,680 B 10 100 30 1,020 2,440 | 107,360
= ELH 5B
[ R #8(100kg/10a) [ #(340kg/10a) $%38(440kg/ 10a) [ R 38(100kg/10a) [ #E(340kg/10a) %72(440kg/10a)
RES EifGe) HESEke)| EiEG@ |£AESke)| HEiE@ | FEEke RES EifGe) (FEEke)| EHEGE) FEEk)| EiEG@ |EESke
sk 31| 1,140 50,160 ZH
L a5
ES ES
LIl i3l 20 680 450 19,800
E 1,140 50,160 B 20 680 450 19,800
[R5 78 (100kg/10a) *%iowma) 718 ([440kg/10a)
RES i) |[FESke)| HEHG) |EESke)| @) |FES(e)
25 70 700 490 16,660 54,210 | 2,385,240
aE - - 60 2,040 6,580 | 341,877
ES - - 60 2,040 7,640 | 336,160
B3l - - 200 6,800 15890 | 699,160
& 70 700 810 27,540 84,320 | 3,762,437




(fE4  RFEENE)

X2/h%Y EIEELAY

[RR18 210kg/10a _ |IR1& 390kg/10a $£1&8 390kg/10a [[R[R%& 210kg/10a  |[®3% 390kg/10a %18 420kg/10a
RER EiE(a) [£EEGe)| EiE() [4EBke)| FiE(a) | £ES (kg) RED EfE(a) [4EE ()| FEiE(a) [4EBKe)| ElE(a) | £ES (kg)
31| - - 50 1,950 1,317 51,363 31| 300 6,300 120 4,680 4,355 182,910
a5 - - - - - - a¥ - - - - 410 17,220
#BE - - - - - - #&E - - 60 2,340 2,800 117,600
EE - - - - - - =L - - - - - -
i - - - - - - L] - - - - 300 12,600
£ - - - - 110 4,290 i3]l - - 380 | 14,820 [ 17,400 730,800
k=99 - - - - 200 7,800 t=v9 - - 1,910 74,490 50,083 | 2,103,486
+B - - - - 1,135 44,265 + 8 - - 1,850 | 72,150 | 85,600 | 3,595,200
g - - 50 1,950 2,762 107,718 i 300 6,300 4320 | 168480 | 160948 | 6,759,816

DHEAS L R95E

[FE#E 210kg/10a  |JR#E 390kg/10a %18 390kg/10a [R518 210kg/10a  |[FFE 390kg/10a %18 390kg/10a
RER | @if(a) [4#E8ke)| HiE(a) [£EEGe)| EiE(a) |EES (ke) REE | Eif(a) [£EEe)| EiE(a) |£ER ke)| Ei5(a) | £E = (ke)
25 - - 200 7,800 5,530 215,670 25 20 420 - - - -
ar - - 140 5,460 5,200 202,800 a% - - 30 1,170 200 7,800
% - - - - - - B - - - - - -
BB - - 80 3,120 2,080 81,120 BB iR - - - - - -
L=l - - - - - - L=} - - - - - -
i3l - - 100 3,900 5,100 198,900 £l - - - - - -
k=94 - - 200 7,800 5,700 222,300 1k=v9 - - - - - -
TR - - 270 | 10530 | 15,200 592,800 TR - - - - - -
&t - - 990 | 38610 [ 38810 | 1,513,590 it 20 420 30 1,170 200 7,800

25%%% MESNE S5

[RJ57E 210kg/10a  |[R#& 390kg/10a $£%8 390kg/10a RIRiE [RiE 23
RERS | @) 4EEke| MiE(a) [£EB k)| HiE(a) | EEE ke) REE | Bffi(a) [4EEke)| EiE(a) |£EE ke)| EiE(a) | £EE (ke)
5 - - - - - - 225 320 6,720 370 | 14430 11,202 449,943
A - - - - - - B - - 170 6,630 5810 227,820
#E - - - - - - #®E - - 60 2,340 2,800 117,600
EE - - - - - - BB iR - - 80 3,120 2,080 81,120
L=l - - - - - - il - - - - 300 12,600
£ - - - - - - £l - - 480 | 18720 22610 933,990
1k—v% - - - - - - th-v9 - - 2110 | 82290| 55983 | 2,333,586
;i - - - - - - + 8 - - 2120 | 82680 | 101,935 | 4,232.265
g - - - - - - g 320 6,720 5390 | 210210 | 202,720 | 8,388,924




(fe% FFEIR)

NLABA BLE
[R5 120kg/10a R%& 240kg/10a 1£4& 270kg/10a [RIF7E 120kg/10a %8 240kg/10a 48 270kg/10a
RES Hifi(a) (HES (k)| EiE(a) (HES (k)| FEHE(a) HES (k) REF Eifi(a) (&EES (k)| BEHE(a) (4HES (kg)| FEHE(a) | HES (kg)
25 20 240 30 720 1,600 43,200 250 185 2,220 - - - -
aE - - 120 2,880 2,400 64,800 a% - - 190 4,560 5930} 160,110
®E - - - - - - #®E - - 100 2,400 1,830 49.410
iR - - - - - - B - - - - - -
L1} - - - - - - L=} - - - - 500 13,500
il - - - - - - il - - 420 10,080 11,650 i 314,550
1h-vy - - - - - - 1h-v9 - - 1,510 36,240 31,441 ¢ 848907
T8 - - - = = = 8 = = = = = -
3 20 240 150 3,600 4,000 i 108,000 B 185 2,220 2,220 53,280 51,351 i 1,386,477
1F5E5Y EFfENE i
RF% 120kg/10a [R1& 240kg/10a 1218 270kg/10a REiE Eig #iE
RED EiE(a) (AES(ke)| Hif(a) (EES(ke)| EiF(a) HES (ko) RES Eifi(a) (&EES (k)| WHE(a) (4ER ()| EHE(a) (EER (ke
250 - - 130 3,120 3,550 95,850 2240 205 2,460 160 3,840 5150 i 139,050
B - - - - - - B - - 310 7,440 8330 i 224,910
#®E - - - - - - #E - - 100 2,400 1,830 49,410
iR - - - - - - B R - - - - - -
L] - - - - - - il - - - - 500 13,500
£ - - 250 6,000 4,850 i 130,950 £l - - 670 16,080 16,500 | 445,500
h=v9 - - - - - - 1h=v9 - - 1,510 36,240 31,441 ¢ 848907
+h% - - - - - - +h% - - - - - -
it - - 380 9,120 8400 226,800 g 205 2,460 2,750 66,000 63,751 i 1,721,277
(1E%R FFEEKRE)
YES55 LE2%
[RJR1E 120kg/10a [R3% 250kg/10a 1218 275kg/10a [RR%E 120kg/10a 3% 250kg/10a 1238 275kg/10a
RES Eifi(a) (HES (k)| FEi(a) (HES (kg)| FEH(a) {4HES (k) REF Eifi(a) HES (kg)| EHE(a) (4HES (kg)| FHE(a) HES (k)
=40 - - - - - - =40 - - - - - -
A - - - - - - a8 - - - - - -
#E - - - - - - #%E - - - - - -
EE - - - - - - EER - - - - - -
&l - - 10 250 40 1,100 &l - - - - - -
£ - - - - - - il - - 120 3,000 1,900 52,250
-9y - - 20 500 250 6,875 th=v4 - - 220 5,500 3,820 ¢ 105050
+h% - - - - - - +h% - - - - - -
s - - 30 750 290 7,975 g - - 340 8,500 5720 i 157,300
EFEKRE Hit
BEE RiE Bz
RES Eif(a) (EER ()| EHE(a) (EER ()| EHE(a) [ EERE (e
5 - - - - - -
il - - - - - -
#%E - - - - - -
127 - - - - - -
i - - 10 250 40 1,100
£l - - 120 3,000 1,900 52,250
1k—v9 - - 240 6,000 4,070 111,925
+ B - - - - - -
3 - - 370 9,250 6,010 165,275




(8 K=)

BHND3 YILLRA
[RRT& 120kg/10a A% 150ke/10a $R3E 180ke/10a [RR#E 120ke/10a [R7E 150ke/10a 1218 180kg/10a
RER | Eifia) 4ES(e)| EHE(a) (EEE ()| () [ EEE (ke REE | Efia) 4ES e)| Eifa) 4ES e)| HH(a) EEES (k)
250 - - - - - - 2240 - - 10 150 120 2,160
A - - - - - - a4 - - - - - -
#iE - - - - - - #E - - - - - -
BBYR - - - - - - BBiR - - - - - -
ES - - - - - - ES - - - - - -
;A1) - - 20 300 330 5,940 Hu - - - - - -
il - - - - - - il - - - - - -
1=y - - - - - - A=y - - - - - -
+ B - - - - - - s - - - - - -
E - - 20 300 330 5,940 B - - 10 150 120 2,160
B2RI95 AN =v 1))
[RR%% 120kg/10a A% 180kg/10a $23% 180kg/10a [RR1& 120kg/10a [R7E 150ke/10a 218 180kg/10a
RER | Eif(a) 4ES(e)| EHE(a) EES ()| FHE() (EEE (ke REE | Efa) 4ESe)| Eifa) 4ES k)| Hil(a) £ES ()
Z50 - - - - - - 5 5 60 - - - -
A - - - - - - B - - - - - -
#iE - - - - - - #E - - - - - -
E - - - - - - E - - - - - -
i - - 5 90 10 180 bid] - - - - - -
|8l - - - - - - |4l - - - - - -
Il - - - - - - i3] - - - - - -
1k-v% - - - - - - L S - - - - - -
+ % - - - - - - B - - 30 450 730 13,140
E - - 5 90 10 180 b 5 60 30 450 730 13,140
BEULYH FRLRA
[RR#E 120ke/10a [5E 150kg/10a %18 180kg/10a [E[E1E 120kg/10a [51E 150kg/10a %18 180kg/10a
RED | Eif(a) EEE )| FHi(a) EES ()| THi(a) HEE (kg RERD | mHi) 4EE (k)| EiE(a) EER(e)| BHi(a) (EERE (k)
25 - - - - - - 225 15 180 80 1,200 2,760 49,680
B - - 20 300 120 2,160 Ak - - 30 450 340 6,120
®E - - - - - - #®E - - 10 150 100 1,800
| BEik - - - - - - | REiR - - - - - -
i - - - - - - ES - - - - - -
|8l - - - - - - |4l - - 20 300 280 5,040
il - - - - - - £l - - - - - -
-y - - - - - - Lu=) - - - - - -
+B - - - - - - +B - - - - - -
E - - 20 300 120 2,160 &t 15 180 140 2,100 3,480 62,640
i o4 % 2F7HRILR
[EE1E 120ke/10a [5#% 150kg/10a %1% 180kg/10a R 3E 120kg/10a [51E 150kg/10a %18 180kg/10a
RED | Eif(a) £ER ke)| FEHi(a) EES ()| EHi(a) HESE (kg RERD | EmHi) 4EE ()| EiE(a) (EER(e)| BEHi(a) (EER (kg
25 45 540 570 8,550 13,670 | 246,060 =5 - - - - - -
a5 - - 50 750 950 17,100 a8 - - - - - -
| i#%& - - 40 600 830 14,940 | & - - 50 750 1,270 22,860
| BBk - - - - - - | fEiR - - - - - -
i - - - - - - ES - - - - - -
&l - - - - - - | #&l - - - - - -
I - - 420 6,300 14,500 | 261,000 £ - - 120 1,800 5600 | 100,800
1h-v - - 50 750 1,940 34,920 1h-99 - - - - - -
+ B - - 60 900 2,200 39,600 + B - - 990 14,850 26449 | 476,082
E 45 540 1,190 17,850 34000 | 613,620 &t 1,160 17.400 33319 | 599,742

XA 13 RYLURIREE 98

0alZIZ R RFRIEEED S,




LEHTIE HEEAM
[RR%& 120kg/10a [R%E 150ke/10a $R3% 180ke/10a [RR#E 120ke/10a [R7E 150ke/10a 1218 180kg/10a
RER | Eifia) £ER e)| FEHi(a) (4ER ()| EHi(a) [ HEE (ke RERD | EHli(a) 4EB(ke)| Eili(a) (£EESR (e)| FEHi(a) [ 4ER (k)
250 - - 30 450 1,300 23,400 2240 - - - - - -
a% - - 20 300 700 12,600 a4 - - - - - -
®& - - - - - - #iE - - - - - -
JiEE - - - - - - JiEE - - - - - -
ES - - - - - - ES - - - - - -
il - - - - - - LAl - - - - - -
Il - - - - - - il - - - - - -
1h-v9 - - 110 1,650 6,699 | 120582 1h-v4 - - - - - -
+ B - - 120 1,800 4,990 89,820 i - - 20 300 690 12,420
E - - 280 4,200 13,680 | 246,402 B - - 20 300 690 12,420
RHDE Ay IATE)
[RR%% 120kg/10a A% 150kg/10a #2738 180kg/10a [RR1& 120kg/10a [R7E 150ke/10a %18 180kg/10a
RER EiE(a) HAEB ()| FEiE(a) 4£EB(e)| FIE(a) (4 EE (kg) REF i) AEBGe)| HiE(a) H£EB(e)| FiE(a)  4HEE (ke)
250 10 120 - - - - 2250 - - - - 600 10,800
G - - - - - - B - - - - - -
#iE - - - - - - #E - - - - - -
iR - - - - - - iR - - - - - -
i - - - - - - ES - - - - - -
| 4l - - - - - - | 4l = = 30 450 950 17,100
Il - - - - - - il - - 40 600 1,300 23,400
1k-v% - - - - - - L S - - - - - -
+ % - - 70 1,050 2,780 50,040 B - - 80 1,200 1,320 23,760
E 10 120 70 1,050 2,780 50,040 ) - - 150 2,250 4,170 75,060
RXTIR XL XHh
R 7 120ke/10a [58 150kg/10a %18 180kg/10a [E[E1E 120ke/10a [51E 150kg/10a %18 180kg/10a
RED | Eifi(a) (EER )| EHi(a) EER ()| THi(a) (HEE (kg RERD | mHi) 4HEE (k)| EiE(a) [EER(e)| FHi(a) [ EER (kg
225D - - 60 900 2383 42,894 Z=4D - - 100 1,500 3,150 56,700
B - - - - - - Ak - - 80 1,200 2,150 38,700
#iE - - - - - - #E - - - - - -
| BBiR - - 20 300 800 14,400 BB iR - - - - - -
i - - - - - - ES - - - - - -
| 4@l - - - - - - |4l - - - - - -
il - - - - - - £l - - - - - -
-y - - - - - - Lu=) - - - - - -
+ B - - - - - - + B - - 70 1,050 5,280 95,040
E - - 80 1,200 3,183 57,204 &t - - 250 3,750 10,580 | 190,440
LEFEEN AE At
R 7E 120ke/10a [R1E 150kg/10a %18 180kg/10a FEE R & 518
RED | Eif(a) £ER )| FEHi(a) EES ()| EHi(a) HESE (kg Eif(a) EEEGke| B EES e)| EEG) £ES kg
25D 20 240 120 1,800 4,850 87,300 2250 95 1,140 970 14,550 28833 | 518994
oL - - - - 200 3,600 a8 - - 200 3,000 4,460 80,280
| & - - - - - - k& - - 100 1,500 2,200 39,600
| BBiR - - - - - - BB iR - - 20 300 800 14,400
i - - - - - - i - - 5 90 10 180
| @ - - - - - - 4810 - - 70 1,050 1,560 28,080
I - - 40 600 1,900 34,200 i3] - - 620 9,300 23300 | 419.400
1h-v9 - - 60 900 1,726 31,068 1h-99 - - 220 3,300 10,365 | 186,570
+ B - - - - - - +B - - 1,440 21,600 44439 | 799,902
E 20 240 220 3,300 8676 | 156,168 it 95 1,140 3,645 54,690 | 115967 | 2,087.406




(feg INE)
IYELIVX I)E167
RRE 120kg/10a [R3% 150kg/10a %18 150kg/10a [RR%E 120kg/10a 278 150kg/10a #2738 150kg/10a
RED EiE(a) (£AERE(ke)| HEi(a) (EES(ke)| EHE(a) (HEES (ko) RES miE() (EEE(e)| Hif(a) (HESE(e)| BEHE(a) [ HES ko)
5 - - - - - - M 10 120 - - - -
a¥F - - 20 300 130 1,950 B - - - - - -
#®E - - - - - - %®E - - 20 300 730 10,950
EE - - - - - - EE - - 20 300 150 2,250
il - - - - - - il - - - - - -
LI - - - - - - LI - - - - - -
k—vY - - - - - - 1k—v9 - - 60 900 550 8,250
+ B - - 280 4,200 6,380 95,700 +8 - - 290 4,350 4,630 69,450
g - - 300 4,500 6,510 97,650 5 10 120 390 5,850 6,060 90,900
EREED LwEY
[B[F#E 120kg/10a [58 150kg/10a %18 150kg/10a [R5 #E 120kg/10a [5i#E 150kg/10a %% 150kg/10a
RES Eifi(a) (HEES (k)| HEH(a) (EEE ()| FEHE(a) (EER ke RES Eifi(a) (EESkg)| FEH(a) (EER ()| FEHE(a) (EER (ke
25 - - - - - - 5 - - - - - -
a5 - - - - - - a5 - - - - - -
#& - - - - - - #& - - - - - -
B iR - - 20 300 150 2,250 fE & - - - - - -
A1) - - - - - - LiA1) - - - - - -
il - - - - - - £l - - 80 1,200 380 5,700
A=y - - - - - - -y - - - - - -
;i - - 50 750 980 14,700 ;i - - - - - -
g - - 70 1,050 1,130 16,950 i - - 80 1,200 380 5,700
EHFA +E1805
[RIR#E 120kg/10a [R3% 150kg/10a 1218 150kg/10a [RIR4E 120kg/10a [R3% 150kg/10a 238 150kg/10a
RES HEifi(a) (HES (k)| FEi(a) (HES (kg)| FEHE(a) HES (k) REF Eifi(a) (HES (kg)| EHE(a) (HES (kg)| FHE(a) i HES (k)
=5 - - - - - - 250 - - - - - -
A - - - - - - a8 - - - - - -
#E - - - - - - #HE - - - - - -
EE - - - - - - EER - - - - - -
il - - - - - - i - - - - - -
£ - - 80 1,200 200 3,000 il - - - - - -
1h-v9 - - 40 600 480 7,200 1h-v9 - - - - - -
+B% 40 480 630 9,450 13710 205,650 + B - - - - - -
g 40 480 750 11,250 14,390 i 215850 g - - - - - -
LIEPVH EVFEY
[RJR1E 120kg/10a 3% 150kg/10a 1218 150kg/10a [ R%E 120kg/10a 3% 150kg/10a 1238 150kg/10a
RES Eifi(a) (HES (k)| EHE(a) [HES (kg)| FEHE(a) {HES (k) REF Eifi(a) (4ES k)| BEHE(a) [4HES (kg)| FEHE(a) [4HES (k)
225 - - - - - - 2250 - - - - - -
aE - - - - - - aE - - - - - -
#E - - - - - - #E - - - - - -
b - - - - - - b - - 20 300 50 750
;{11 - - - - - - ;10| - - - - - -
i - - 20 300 - - il - - - - - -
Fih—yy - - - - - - -9 - - - - - -
T8 - - - = = = T8 = = = - - -
s - - 20 300 - - E - - 20 300 50 750




) Fhr&g4+3T>
RRE 120kg/10a [R3% 150kg/10a %18 150kg/10a [RR%E 120kg/10a 278 150kg/10a #2738 150kg/10a
RED EiE(a) (£AERE(ke)| HEi(a) (EES(ke)| EHE(a) (HEES (ko) RES miE() (EEE(e)| Hif(a) (HESE(e)| BEHE(a) [ HES ko)
250 - - - - - - 25 - - - - - -
B - - - - - - £t 5] - - - - - -
#iE - - - - - - #iE - - - - - -
L - - - - - - L - - - - - -
il - - - - - - il - - - - - -
LIl - - - - - - L)1l - - - - - -
L)) - - - - - - -9 - - - - - -
+ B - = 20 300 140 2,100 + B - - - - - -
i - - 20 300 140 2,100 g - - - - - -
EEAKIME IFERKHE
[B[F#E 120kg/10a [58 150kg/10a %18 150kg/10a [R5 #E 120kg/10a [5i#E 150kg/10a %% 150kg/10a
RES Eifi(a) (HEES (k)| HEH(a) (EEE ()| FEHE(a) (EER ke RES Eifi(a) (EESkg)| FEH(a) (EER ()| FEHE(a) (EER (ke
ZH 10 120 - - 140 2,100 ZH - - - - - -
B - - 60 900 900 13,500 a¥E - - - - - -
%iE - - - - - - & - - - - - -
B iR - - 50 750 355 5,325 b - - - - - -
A1) - - 10 150 350 5,250 il - - 10 150 180 2,700
il - - 80 1,200 180 2,700 £l - - - - - -
k=Y - - - - - - k=9 - - - - - -
+H# - - - - - - +H# - - - - - -
E 10 120 200 3,000 1,925 28,875 i - - 10 150 180 2,700
N EE
RIRIE [t RiE
RES Eifi(a) (HES (k)| BEHE(a) (HES (k)| FEHE(a) [4HES (k)
25 20 240 - - 140 2,100
a8 - - 80 1,200 1,030 15,450
®E - - 20 300 730 10,950
EE - - 110 1,650 705 10,575
il - - 20 300 530 7,950
il - - 260 3,900 760 11,400
1ih-v4 - - 100 1,500 1,030 15,450
+i 40 480 1,270 19,050 25840 | 387,600
F 60 720 1,860 27,900 30,765 | 461,475




(E8 AAED)

LRt Ak
RRE 120kg/10a [R38 120kg/10a %18 150kg/10a [RR%E 120kg/10a [R78 120kg/10a #2738 150kg/10a
RER | EHG) HEEGe)| B 4EEG)| BH() EEE ke BRE | EHG) 4EEG)| BHG) 4EEG)| W) EEE ke
250 - - - - - - 25 - - - - - -
B - - - - - - B - - - - - -
#iE - - - - - - #iE - - - - - -
L - - - - - - L - - - - - -
il - - - - - - i - - - - - -
£ - - 30 360 450 6,750 £l - - 10 120 100 1,500
L)) - - - - - - -9 - - - - - -
1B - - - - - - + B - - - - - -
g - - 30 360 450 6,750 5 - - 10 120 100 1,500
ZAES AE
BRRE FiE %1
BRE | EHiG) 4EEGe)| BMG) £EEG)| EHG) EEE ()
5 - - - - - -
aE - - - - - -
& - - - - - -
L - - - - - -
LiA1) - - - - - -
£l - - 40 480 550 8,250
1=y - - - - - -
+H# - - - - - -
E - - 40 480 550 8,250




(fER LWAITA)

RIESH e
RRE 100kg/10a 7% 120kg/10a $27E 150kg/10a [RIR7E 100kg/10a [R78 120kg/10a #2738 150kg/10a
RED EiE(a) (£AERE(ke)| HEi(a) (EES(ke)| EHE(a) (HEES (ko) RES miE() (EEE(e)| Hif(a) (HESE(e)| BEHE(a) [ HES ko)
250 50 500 - - - - =50 50 500 - - - -
B - - - - - - B - - - - - -
#iE - - - - - - #iE - - - - - -
L - - - - - - L - - - - - -
il - - - - - - il - - - - - -
LIl - - - - - - L)1l - - - - - -
k=99 - 50 600 500 7,500 1= - - - - - -
+ B 270 2,700 1,500 18,000 12,039 | 180,585 +8 - - 120 1,440 660 9,900
i 320 3,200 1,550 18,600 12539 ;| 188,085 g 50 500 120 1,440 660 9,900
12k (A= FAi
[R5 100kg/10a R%& 120kg/10a 1248 150kg/10a IR 100kg/10a R%& 120kg/10a %18 150kg/10a
RES Eifi(a) (HEES (k)| HEH(a) (EEE ()| FEHE(a) (EER ke RES Eifi(a) (EESkg)| FEH(a) (EER ()| FEHE(a) (EER (ke
25 - - - - - - 5 - - - - - -
a5 - - - - - - a5 - - - - - -
#& - - - - - - #& - - - - - -
b - - - - - - b - - - - - -
A1) - - - - - - LiA1) - - - - - -
£l - - - - - - 1l - - - - - -
1h-v9 240 2,400 20 240 200 3,000 1h-v9 - - - - 70 1,050
+B - - 1,280 15,360 5,287 79,305 + B = - 150 1,800 629 9,435
g 240 2,400 1,300 15,600 5,487 82,305 i - - 150 1,800 699 10,485
BREH NEEE
[RJR%E 100kg/10a [R1% 120kg/10a 1218 150kg/10a [RJR%E 100kg/10a [R% 120kg/10a 238 150kg/10a
RES HEifi(a) (HES (k)| FEi(a) (HES (kg)| FEHE(a) HES (k) REF Eifi(a) (HES (kg)| EHE(a) (HES (kg)| FHE(a) i HES (k)
=5 - - - - - - 250 - - - - - -
A - - - - - - a8 - - - - - -
#E - - - - - - #HE - - - - - -
EE - - - - - - EER - - - - - -
il - - - - - - i - - - - - -
£ - - 150 1,800 1,100 16,500 il - - - - - -
199 - - 60 720 410 6,150 199 - - - - - -
+ B - - - - 810 12,150 + B - - - - - -
s - - 210 2,520 2,320 34,800 F - - - - - -
EFT +HEA6S
RIR%E 100kg/10a 3% 120kg/10a 1218 150kg/10a [ R7E 100kg/10a 3% 120kg/10a 1238 150kg/10a
RES Eifi(a) (HES (k)| HEiE(a) (HES (kg)| FEH(a) [ HES (k) REF Eifi(a) (4HES ke)| BEHE(a) (4HES (kg)| FHE(a) | HES (k)
225 - - - - - - 2250 - - - - - -
aE - - - - - - aE - - - - - -
#E - - - - - - #E - - - - - -
BBiR - - - - - - E - - - - - -
;{11 - - - - - - ;10| - - - - - -
i3] - - - - - - il - - - - - -
A=y - - - - - - =y - - - - - -
+h - - 250 3,000 2,180 32,700 + - - - - - -
s - - 250 3,000 2,180 32,700 E - - - - - -




B|TIES [P RN

R[5 100kg/10a JR%& 120kg/10a 1248 150kg/10a R 100kg/10a %8 120kg/10a 48 150kg/10a
RES Hifi(a) (HEES (k)| EiE(a) HEFES (kg)| FEHE(a) HFES (k) REF Eifi(a) (&EES k)| EHE(a) (HES (kg)| FHE(a) 4HES (kg)
25 - - - - - - 250 - - - - - -
B - - - - - - " - - - - 120 1,800
#E - - - - - - #E - - - - - -
FBIR - - - - - - BBIR - - - - - -
;11 - - - - - - 10| - - - - - -
il - - - - - - il - - - - - -
G - - - - - - L) - - - - - -
+ B 20 200 50 600 780 11,700 + B - - 80 960 80 1,200
&t 20 200 50 600 780 11,700 it - - 80 960 200 3,000
Ea=P) N
[RJR%E 100kg/10a 3% 120kg/10a 232 150kg/10a IR R%& 100kg/10a 3% 120kg/10a 1238 150kg/10a
RES Eifi(a) (&EES (k)| HEHE(a) (HEEE ()| FEHE(a) (EER ke REF Eifi(a) (EESkg)| HEH(a) (EER(e)| FEH(a) (EER (ke
5 - - - - - - =5 30 300 - - - -
a5 - - - - - - A% - - - - - -
#& - - - - - - #& - - - - - -
b - - - - - - b - - - - - -
A1) - - - - - - LiA1) - - - - - -
il - - - - - - il - - - - - -
1h-v9 - - - - - - 1h-v9 - - 60 720 720 10,800
+ 8% - - - - - - + B 50 500 300 3,600 800 12,000
g - - - - - - s 80 800 360 4,320 1,520 22,800
RAiAE BR=E
[RIR%E 160kg/10a 218 180kg/10a 1218 210kg/10a [RIR1E 160kg/10a [R3% 180kg/10a 1238 210kg/10a
RES EiE(a) (AES(ke)| Hif(a) (EES(ke)| HEiF(a) (EES (ko) REB EiE) (EESE(ke)| Hif(a) (AES(ke)| HEiE(a) (HES o)
=5 - - - - - - 250 - - - - - -
A - - - - - - a8 - - - - - -
#®E - - - - - - #E - - - - - -
R R - - 20 360 100 2,100 fE i - - 20 360 100 2,100
Eidl] - - - - - - il - - - - - -
£ - - - - - - il - - - - - -
1Y% - - - - 60 1,260 199 - - 10 180 132 2,772
+ i - - - - - - + i - - - - - -
s - - 20 360 160 3,360 E - - 30 540 232 4,872
pN=Eid WAlTA &E
[RR#E 160keg/10a [R3% 180kg/10a %18 210kg/10a RIRRE RiE #ig
RELS HEifi(a) (EER ()| EHE(a) (HEER ()| FHE(a) [EER (ko) RES Eif(a) (EER (k)| EHE(a) (EER ()| EHE(a) [ EER (e
25 - - - - - - = 130 1,300 - - - -
ar - - - - - - a¥E - - - - 120 1,800
#E - - - - - - #%E - - - - - -
RE#R - - - - 60 1,260 BB R - - 40 720 260 5,460
il - - - - - - Ll - - - - - -
L - - - - - - LI - - 150 1,800 1,100 16,500
k=9 - - 20 360 90 1,890 k=99 240 2,400 220 2,820 2,182 34,422
1B = = = - - - + B 340 3,400 3,730 44,760 23,265 | 348,975
E - - 20 360 150 3,150 E 710 7,100 4,140 50,100 26,927 i 407,157




(fem% 213

F274YN *5/34a
[RR7E 90kg/10a [R3E 90kg/10a %18 90kg/10a [RF7E 90kg/10a [51& 90kg/10a 272 90kg/10a
RER | EHiG) HEEGe)| BHG) 4EEG)| BH() EEE ke BRE | EHiG) 4EEG)| BHG) 4EEG)| W) EEE ke
5 - - 793 7137 2,805 25245 5 - - - - - -
B - - - - - - £t 5] - - - - - -
#iE - - - - - - #iE - - - - - -
L - - - - - - L - - - - - -
il - - - - - - il - - - - - -
£ - - 20 180 300 2,700 £l - - - - - -
+B% 100 900 - - - - + B - - - - - -
il 2] - - 200 1,800 1,069 9,621 B - - 20 180 92 828
i 100 900 1,013 9,117 4,174 37,566 g - - 20 180 92 828
L5/h%Y £a3v%
[RR7E 90kg/10a [ 3% 90kg/10a #%%8 90kg/10a [ R3& 90kg/10a [R3& 90kg/10a 218 90kg/10a
RES Eifi(a) (HEES (k)| HEH(a) (EEE ()| FEHE(a) (EER ke RES Eifi(a) (EESkg)| FEH(a) (EER ()| FEHE(a) (EER (ke
25 - - 132 1,188 264 2,376 2250 - - 523 4,707 2,300 20,700
a5 - - - - - - a5 - - - - - -
#& - - - - - - #& - - - - - -
b - - - - - - b - - - - - -
A1) - - - - - - LiA1) - - - - - -
£l - - - - - - 1l - - - - - -
T+ - - 100 900 - - % - - - - - -
SIER - - - = - - Fillhz - - 20 180 92 828
g - - 232 2,088 264 2,376 i - - 543 4,887 2,392 21,528
zIE &&t
RRE [t Ri8
RES Eifi(a) (HES (k)| BEHE(a) (HES (k)| FHE(a) | HES (k)
2240 - - 1,448 13,032 5,369 48,321
a8 - - - - - -
#%E - - - - - -
E - - - - - -
il - - - - - -
il - - 20 180 300 2,700
+ 8% 100 900 100 900 - -
Fillhz: - - 240 2,160 1,253 11,277
3 100 900 1,808 16,272 6,922 62,298




